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If it is to pay her the Ksuboh, etc. — 9932 172902 79 2nnb 9N

OVERVIEW

»aR attempted to prove the ruling of X" (that *nX¥n 5"5 X he is 19V 7I0IR? 1AK1)
from our 7wn which states that °¥°277 21> nXW1 77102 (since the 7"°2 sits on 77 av
and he can present the 2°212 Nwv to 7"2 on the next day). We infer from the mwn
that they should not marry on the fifth day, because till the 7"°2 is again in session,
which is the following Monday, the husband’s anger will be diminished and he
won’t come to 7"°2. We cannot say that we are concerned that since he won’t come
to 72, he will be liable and eventually pay her 712103, for that is no concern of
ours; he did not make his claim so he pays the 721n2. [We must say, concludes X,
that she may be 770X to him, and we are concerned that if he won’t go to 7"°2 he
will live M0°X2 with his wife.] n19010 discusses the inference that if he would go to
7'"2, he could make her lose her 77210>.

- 2Ana1ms N109NY NI 790 191 H%AY XA 7N ON Tynun
It seems from s 2R statement that if he would come to 7''53, he would be

believed (with his claim of 0°91n2 nivw) to make her lose her 712305 payment. This
will be true -
- 1N 150 NY PYY NIDINYY 39 Yy 9N

Even though that (it is possible) that the husband will not be believed (with nivy

mno nno) to have her prohibited to him. The reason for this distinction is -
- ‘a0 NPINA NNRPINY NIND NNDA 2P 1N RNDYYT 91912Y )9 5IRT DIVN

Because we can assume that perhaps he is not acquainted as to what is
considered a mnd Ny, and since it is a P90 whether he is a °p2 (and she 1s 7MOK) or
not (and she is not 77MOX), we place her with the presumption of 9037 to her

! See, however 1nR1 7"7 X,0 "W, who maintains that he is not believed 702102 77°09:7.
2 If he is not believed ;102303 770912, why does »ax discuss the difference whether he will or will not come to 7"
(and »2ax states that we do not care that he will pay her the 77121n3), when in any event she will always receive her
7212, since he is not believed. Therefore since (we can infer from 2R that if he comes to 7"°2) he is believed, one
may have thought that therefore he should marry on '7 a1 so he will not forfeit the 772103, by not coming to 7"*2, and
2R explained that if the husband does not care about the 72103 payment, we certainly do not care.
? »2x is now trying to prove that he is 19 77087 1283, He proves it in the following manner, if we will maintain that
he is not 1°%¥ 770> 1K1, and the reason for '7 1 is for 72103, the 71wn is not understood since we do not care if he
forfeits his 72103 rights; indicating at this point that we entertain the thought that he is not 1°2¥ 710187 1831 and is 1K1
(if he so chooses) n21N5 77°097° (the only problem is that the 71wn is not understood).
* Before he claimed mnd nno she was nMn to him. It is this N7 npin that resolves this 290 and they are 0 to each
other. See ‘Thinking it over’ # 1.
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husband -
= HIND NN NIV NINY 921D 13D YIY 29 DY 4N NTP09N HNIIND DIPN Yon YaN

Nonetheless however, she loses her 72103, even though we may argue that he is
mistaken regarding his claim of mwnp nnp -

- 11590 NHPIND NN SPIN 191Y 19 1INT
For we should say, the money (for the 721> payment) is placed in the
possession of its owner, namely the husband. The P50 is resolved by the 1n npim.

In summation: if we assume that there is a pp0 whether the husband is a 592 °p2 (and therefore
she is 17 770K and loses her 772112) or he is not a "2 °pa (and therefore she is 12 nan and
receives her 7121n2), the rule is that we follow the 7pin to resolve the poo. Regarding "n°m 70K
we rule that 12 n7nn since there is a 907 np1n. Regarding 712103 payment, the husband is the prmmn
and the money remains by him unless she can prove otherwise.

nooIn asks:
- Sx‘p’av P90 N NN NNAINI NTY099 NIRRT NV

And there is a difficulty! For why does she lose her ;712105 since it is a X250 P50 -
- “NY BN NN NNBA Y3 NIN ON POD

There is a 20 whether he is 5?2 in 2'"'5, or not (in which case she receives the 721n3) -
- PI¥Y2 POD DIND POV 7N HING HND Y NN ON

And even if we assume that he is a >p2 and it was a 2'"'5, there is the additional
»oo whether she was 83182 177921 (where she receives her 72112) or whether it was

7I1X92 (where she forfeits her 712102). Md0IN rejects a possible solution -
= ANIND NT091 XY VNI 7]11: NYN 1DINY

For even the wife of a 37712 does not lose her 72102 if o182 75va1.

In summation; Moo1n assumes that even though there is a 1» NP, nevertheless that can only
resolve an equal o0, but if there is a Xp*90 ?50 which contradicts the 777 npm,g it would seem
that the prmn would have to pay.

3 The 11937 9¥ 021w MOOIN writes: ¥ PHO DX POO KW 1M1 TOANAY 2127 1'RT RP*O0 POO 1WA XY XITT D°WDN W)

XPD0 K77 KR 2°Wn &Y 29791 191 PO 1¥N2 17 R¥AN aXY. (See X1 1"7 X, '010 TIE footnote # 30.)

perhaps it ) RpP*00 RN ROR K2°2 1M XN NP1 X217 721Nd 1’31]5 7% MM mns nnoa TRP2 2177 NN PIva M W on1 oM

MY RAPDY RAPD 2 N XM YR (her TN NP ARPTAR PROPA PRT RV A0 1Y RIOR TI0INR? 17 DaR (D1R2 was
.07 NIvY1 9°NYT ’WﬁP’Nb wiPnh XX 712103 '[’JSJ'?'I QA7 NIVHA PRI 721N 19 20717 X WD 93717 RN .Nj?°20 P50

® At this point we must assume that >p2 11X po0 is a valid poo, for otherwise how can we maintain (at this point) that

PHY TI0IRT AR IR,

7 We cannot answer that the 73w is discussing an 375 WX who is 7¥2% 770K even if ("nrn) onRa 79val, because

even by 115 WX she retains her 72102 if 01IR2 79¥21. See R,X¥ 271

¥ There is a fifty percent chance that he is not a *pa and she is a 77102, and even if we assume that she is not a 72103,

it could be she was 012 79va1 where she still receives her 72103, There is (sort of) a 217 that she should receive the
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mooIn anticipates (and rejects) a possible resolution:
- 97!’51??1‘\3 NN 19IPT DIVN NNIIND NTUON RPIOD POV 1DIANT 9191 PN)

And one cannot say that even by a Xp°20 o0 she loses her 73102 because we
place the money by its owner —

mooIn rejects this approach:
= NDINI INVINYN 23) (3,20 91 1P NNY

For later regarding the case where the husband realized that she is not a 777302

and she claims, ‘I was 2iR1 after the 1°0179°R’, and you owe me o>nx» for the 72105 -
= MYV NPN INPN NN NVINI TPNDIN XDV 19 RIN 95 XD 99N NI

And he claims, ‘no; but perhaps your ®1X took place before the 1°21°R and it

was a mistaken deal, and therefore I do not owe you a°nx». Regarding this dispute between

husband and wife -
— 15 15N NI YAN DINNND MYV NPI (.0 91 NP YI9NT 1NN NN

There is one who later explains that the husband’s claim of myw npn is that he is

not willing to pay a%°nRk», but she receives a 77 regardless -
= 70912 XY XP29D POD N NIN INMNIT DIVN NION

It is evident that the reason she receives a min is that since regarding a 7% there

is a RP % PoY in her favor to receive the 7in therefore she does not lose it even
though he is the prmn. Now naon explains this Xp°50 290 in her favor -
= NOINMY NN POD NOINMVY 0P PaDT

For there is a po® whether she was 177v21 before 707801 (where she receives a min,
since we assume that 711 702112 722 NRYNI 779102 NP2 7019)'? or whether she

was 1¥72 7112 after 79NN where she receives nothing)13 -
- %110 ©3IND 1IN NDINNIY NN 99I9 N¥HN ON)

72113 and only a 1vn NP1 that opposes it. Md0IN taught us previously "X1 7"7 &,v that when 7pTm 217 contradict each

other we follow the 211.

® We will need to differentiate between various mpm. When we are discussing a 1%¥2% 201 np1i (for instance, as in

the previously mentioned nMooIn) the ruling is 7°7¥ X217 ApTM X2, however when we are discussing a 1mn npin,

perhaps there the 131 NP1 is stronger than 217 (similar to 2177 MR 1R P17 PR, but rather we follow the prmin).

19 Others amend this to X2°X (instead of XJ°XY).

" There is a dispute among 2°X»X in a case where he married her assuming she is a 79102 but it turned out that she

was a 171 (from before the marriage) whether she receives a i only (nww 27), like a regular 77Ww3, or whether she

receives nothing at all (X27), since it was a Nyv npn.

'2 A known w3 (such as an 7In9XR or 7w3) receives a m1n for her 7a103.

> A woman who is 77%%12 i while married loses her entire 12103, This is the reason he should not pay her anything.

Even though the m1wn states that he claims that she was 711 before 1°017°K; however that is not a *X71 claim, rather he

is saying that I maintain that perhaps you were 11¥72 71 after the 101X (and deserve nothing), and even if you

claim it was 012 (and deserve everything), I maintain it could have been 1°017°& 072 and you receive a 1.

' There is a Xp*20 20 in her favor regarding a 7. She deserves a 3 if she was a 70IkNIW oTP 72w (whether o182
3
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And even if you assume it was 098N R perhaps it was 1IR3 (where she
retains her 57210D) -
- 151310 19598 1Y NN INPN NTD9N NPV DDA IIIONT NN INT

For if you will say (as the °m% X1 wanted to) that she loses her 772102 even by a
NP°00 2%, so why does she receive even a ;71%?!

In summation; NM01N proved that a Xp°50 P90 can be Tn XX from the prmn. The question
remains why can he make her lose the 712105 when he claims *nXx» mno 109, since there is a P90
XpP 00 in her favor; 011X2 P50 P2 2"'NXY ,°P2 1R POO.

N1B0IN answers:
- 13313 INND NP0 DD UM KT 0Y YW

And one can say; that in this manner it is not considered a X?°5% P20 -
= 1205 1Y A1 N9 NP90 2PUN N 190 UINA NIV NP9D 'NNT OIVN

For this p2o of perhaps it was 91983, is not a sufficient poo to award her the
entire 5123 -
- V103N AOINDMIY O1YD ININT

For perhaps she was 110181 before the 1°0Y9°X which denies her (at least a 7n of) her
18
72no.

mooIn finds support for this last concept that to be considered a P50 it must be a factor in her
favor under all circumstances:

or 11%12), and even on the chance that it was 7081w nXY she still deserves a (full) 72103 if it was 0182, This o0
XpP°00 overpowers the 119 npin of the 7va whose only claim is that she was 13¥72 f3mn after the 1°017K.
15 The husband is the P11; he claims that she was 11%72 71t» after the 7°017°R so she should receive nothing. Even
though there is the X0 P50 in her favor that it was 012 and even if it was 71X72 it could be 701K aTp,
nevertheless, if we maintain that 1n npin is stronger than a X0 P50 she should receive nothing. [Even if we
maintain that 72192 DRYAN 7202 NPIR2 70310 she receives a 7In, that is if we know that she was 719v21 before the
1017°%; however when we do not know she should receive nothing if a 77 npin is stronger than a Xp'0 p90.] The
fact that she receives a 17111 proves that a X0 po0 is stronger than even a 17 npi. See ‘Thinking it over’ # 2.
16 mooin is referring to the initial X250 P20 which is 01R2 Xnw °P2 5"'NRY °P2 1°K Poo and she should receive the entire
12102,
17 Usually each 290 of the X950 po0 is unequivocally in her favor. For instance the X0 50 of 11°X 50 1’NAN P50
DX P90 1PNNN "'NRY 1NN, regarding the ruling of X" in our X If it was 1NN R she is NN to him regardless
whether it was 012 or 1¥02. If it was 011X2 she is NN to him regardless if it was 1°nnn or N0 1°X. However here
the Xp°00 Poo is DI OO P2 2"'NXY P2 1K pod. However 01X does not guarantee her a full 7203 if it was o7Ip
noaRNw, for then she is a 77Ww3 who (at most) receives only a 7.
18 [Even] if we assume that it was a mIno nno there are three possibilities as to when she was 77v21: 1. Before 101K,
2. After 11¥12 PO1R, 3. After 01X2 701X, In two of the three possibilities (1&2) she does not receive the (full)
72n3. This weakens her strength in the second 50 (of 01X), for the 217 [two out of three] is in his favor, so that we
cannot combine this P50 to the Po0 of P2 or P2 K to make it a Xp°50 0. [See X1 7"7 X,0 '0n TIE ‘Thinking it
over’ # 2, where Mo0N requires a Mpwi P50 (even) by a K50 poo.]

4

TosfosInEnglish.com



X 17"7'010 2,0 M2 702

= (8 97 10PY) 1P2INNI INT NN 99V NN RNV
And now it will be properly understood this which we learnt in the w?» -
- N YN DT XN 9 XY 1IN XD 23N TNy 79I NN X0

She said, ‘I am a y» n2»’, and he said. ‘no, for you are a X no117’ -
= NN NTOIIIY NININI NIINY YWIN? 229 9INRPY

And yw17° ' ruled that she is not believed and loses her 712102, for we assume that
she is a w°X N0177 and not a y¥ n31. The amount she loses depends -
- 2myh5 XY 1IN 299 SN Z11an 13nyd 23499 N

Whether we agree with 3'"9, where she loses a mmn, or whether we agree with

X'"9, in which case she receives nothing. nmsoin questions the ruling of Yy " -
- N2 NY Y XY NN POV NP0 POD MHNT 2) YY 9N

And even though it is a XP35® P20 (in her favor); there is the P20 that she is a nom

vy and entitled to a 720> (either n"2% 2°°nX» or 131217 71) -
- P25 NY v 23111‘1\0 MONNDI NTINI PHNH IR YWIN HDINT 91999 N¥NH ON 199N

And even if you will say that she is a w8 no197, we can still say that she was

moiN1 after the 1921799 so his ‘field was ruined’ and she receives the entire 773103,

so why does "1 maintains that she loses (part of) her 721n2; this proves -
- 03N NOIRMY ONP MINRT P00 29WN RY DN POD INT NIN

Rather that the (°’nrn) o182 Pov is certainly not considered a % in her favor,
because we can say that she was ;70181 before the 770178,

mooIn offers an alternate explanati0n27 why yw7°> "1 maintains that she loses her 72103 when she
claims *IX y¥ N3 even though (seemingly) there is a X950 P90 in her favor:

' A yv nowm (literally hit by wood) refers to a woman who lost her 29102 on account of a wound, but not through a

relationship with a man.

20 g% o7 means having relations with a man.

21" maintains that if he married her assuming she was a 72102 and it turns out that she is a 723 she (still) receives

a 1. A yy nom always receives 0nXn (according to »"7). We do not believe her that she was a y¥ n2m (and entitled

to receive 0nXn), but rather we assume that she was a 792 and receives a 71a. The 71wn follows the view of "3

according to 71 .

22 X" maintains 792 DR¥AN 72103 npIna 710 she receives nothing (because it is a NMyv npn). A ¥ nom (according to

the 1127 who argue with n"9) always receives only a 732, We do not believe her that she was a y¥ n21 (and entitled to

receive a 1), but rather we assume that she was a 7732 and she receives nothing.

> This is a metaphor; it is as if you bought a field and it became ruined; you have no recourse, here too you married

me and there was a D12 777°v1 after the 1"w17°p and you too have no recourse but to pay me the entire 72103.

* See 119937 9% 23w MooIN who writes; 203w '3 MIND2 PRPIND RIPINPA KD RAPW R, since by a 7ivp there is no poo of

770IR1 70IRNIY 272, she should not lose her 172102.

2 If she was 110181 before the 701X she loses (either all or part of) her 721n2. See footnote # 21 & 22.

%% This reinforces what mooIn said previously that a P20 in one’s favor must be valid in all circumstances. Here

however the poo of 701X1 is valid only if it was 1°nrn, but not if it took place 1017°% o7Ip. See footnote # 17.

7 This explanation does not necessarily agree that the 01X P90 is not a valid o0 (see footnote 17 & 26). See
5
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= POV R \Y NNMT PHYY 13929 9IIN 1IN

And in addition says the "9 that a ¥ N> is not common, therefore it is a not a
valid 790 and subsequently there is no Xp*50 P90 in her favor. There remains only the one 50 of
NN or 1PNRN K, which is not sufficient to be XX from the 17 npin of the husband —

Moo responds to an anticipated difficulty:
= HNODN) 1297 NION 199N 281\9:1'\’)2 0920 933 YNNI (3,9 1Py )I9VNINT NPT

For that which the X7n3 says later, ‘all woman are prone to falling’ (which

would indicate that y¥ n21 is r°>w), that is only according to 3" -
- 102NNRT XYV 1YY P57 199NV YWINS *29 Yax

However we were taught that ywy '3 does not agree with the reasoning of
Nwarn -
- PHINA MYV 119 YO VIV HYIN (x5 1055 - OND NPT
For he maintains there that for a deaf mute and an imbecile there is niyw
2°9n3 -
XMW NY NDANT 1Y KI%20T DIVN 1995

And the reason is because °''7 maintains that Xvar is not common; therefore nmn
Y¥ is not 7°5¥ and cannot be considered a valid poo.

SUMMARY

We may assume that even if mnd rind NIy is not accepted 1°7¥ 710X, nevertheless
it is sufficient 72N> 77°0977, since he is the prmn. Generally a Xp*00 P90 can be
X from a 1mn NP, except if the X°¥17% P90 is not applicable in all cases.
Regarding y¥ nowm it is 1°2W according to 3"7, but not according to ywa» .

THINKING IT OVER

1. mpoIn writes that he will not be 15y 771018, 2X1 (even if he is believed 77°097°
7N21N2) since it 1s a o0 and she has a N7 npm.“ Seemingly she is N7 to him
because it is a X050 Pd0; perhaps he is not a P2 and 01X2 PO *pa 2"'nR. Why does

‘Thinking it over’ # 3.
* The falling down causes them to become y¥ nam. See previous *X1 7"7 X1 '010 (footnote # 20).
? The xm there cited two contradictory MIn>13; in one it stated NI T2 WM 0Ip T2 W NONOVRM T0WT DY
2°71n3, and in the other Xn>131 it stated 0°7102 navw '[.'(5 PR 7Y N2 NAam suwm nwann. The Xna explained that the
Xn*72 which states 0°2102 nww 177 X is according to 3" (of 2,2°) who maintains y¥ n31 is m°5w and he should have
realized that the 70w nwon are probably yv nam, however the Xn*>92 which states 0°71n2 naww 1772 w° is according to
YW " who maintains m°3w X? ¥¥ N2 and presumably the 70w nwon are still M21n3, therefore he has 0°21n2 N,
% Therefore it is presumed that she was 7923,
! See footnote # 4.
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Moo mention the 7N npin? !

2. It appears that M50IN maintains that a Xp*90 P50 can be X°¥1 from a 1n npin.>
Seemingly a Xp»0 P90 is similar (or identical) to a 217; first there is an equal
chance either way and even if you assume in favor of the p1mn there still is a
chance that the X°X1 is right. How is it that we rule 21777 X 1712 19917 PR, and we
follow the P, and on the other hand a Xp*50 oo is XX from a prmn?!™

3. The (last) answer of the "1 does not explain the initial question of Md0I1N, why is
he 102105 77°097% MR1 since it is a Xp°o0 p50.35 To answer this question we have to
assume NON initial answer, which also explains the Yy n>m issue. Why was it
necessary for the *" to give this last explanation?’

32 See n¥pn MW and X"wAn.
33 See footnote # 15.
3 See "1m.
3 See footnote # 27.
3 See axyon.
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